
• (A ∪ B) ∪ C = A ∪ (B ∪ C) 

• (A ∩ B) ∩ C = A ∩ (B ∩ C) 

Exp- 

A = {1, 2}, B = {2, 3}, C = {3, 4} 

(A ∪ B) ∪ C = {1, 2, 3, 4} = A ∪ (B ∪ C) 

(A ∩ B) ∩ C = ∅ = A ∩ (B ∩ C) 

 

3. Distributive Property: The distribution of a set operation over another set 

operation results in an equivalent expression. 

• A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C) 

• A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C) 

Exp- 

A = {1, 2}, B = {2, 3}, C = {3, 4} 

A ∩ (B ∪ C) = {2} = (A ∩ B) ∪ (A ∩ C) 

A ∪ (B ∩ C) = {1, 2, 3} = (A ∪ B) ∩ (A ∪ C) 

 

4. Identity Property: The union of a set with the empty set is the set itself, and 

the intersection of a set with the universal set is the set itself. 

• A ∪ ∅ = A 

• A ∩ U = A 

Exp-  

A = {1, 2, 3} 

A ∪ ∅ = {1, 2, 3} = A 

A ∩ U = {1, 2, 3} = A 
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